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NC11 P3-1
2025-05-24 (Day 56)
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1 (fgArea = NA)
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0
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P3-1

BfiE) | GEBEIK (F) | EiE (EH/HK) (KT R

08:25 288 150.0 5| THAe08:25 REFEF (KEAEREE)
08:50 288 150.0 | FiHfe0s8:50 REFEF (KEERHR)
09:15 288 150.0 5| FiHEe09:15 REEF (KEAERSE)
09:40 288 150.0 5| TH@09:40 REFEF (KAERSE)
10:30 288 150.0 5| THA@10:30 KENFEF CGRATEEER)
11:15 288 150.0 5| TiHe11:15 RHERF (KREERESR)
11:55 288 150.0 & FiHAe11:55 KRHEIEF CGREAERES)
12:35 288 150.0 5| TiHfe12:35 REERF (REAERSR)
13:15 288 150.0 5| TiHe13:15 RHEF (KREERSR)
13:55 288 150.0 | FHAe13:55 KEFEF (KAERSE)
14:35 288 150.0 5| TiHe14:35 RHEF (RAERSE)
15:20 288 150.0 5| THRe15:20 KENFERF (RFE1EREED)
16:10 288 150.0 5| FHEAe16:10 KEEF (KRAERHSE)
23t 3744.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

#HEKRECE (2223.0 vs 3670.0) 1

=
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P3-1

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:25 278 150.0 (Z=| {Ri%@07:25 Bz (REAFERHSR)
08:00 278 150.0 (% =| 1Bi&e08:00 BHzh (FRHEERESE)
09:15 278 150.0 [Z=| 1BRiB@09:15 Bzh (KREERESE)
10:15 278 150.0 | =| 1Ri%e10:15 Bzh (GRAEREE)
11:20 278 150.0 & =| 1Ri%e11:20 Bzh (RAHERESE)
12:05 278 150.0 | =| 1Ri%e12:05 Bz (kAEREEE)
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14:30 278 150.0 FA| {Ri%@14:30 Bz (GRAERE)
15:15 278 150.0 FA| 1B2i%@15:15 Bzh (RAEREE)
16:10 278 150.0 Al 1Ri%e16:10 Bzh (RAERESE)
23t+]3058.0 (11%) 1650. 0 3 3FKEC: 2080.0, PH: 5.6

WERRHUEME S TEAERTS (179.0 : 142.0), AIgERAF—RE XAH45
BRI\ SEBRIERE142.0 ml.
#[EKECE (2080. 0 vs 3727.0) 345
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P3-1

BfiE) | BRI (FD) | EE (EH/AR) | XK R

07:20 278 150.0 & =| 1Ri%e07:20 Bz (kAEREE)
07:45 278 150.0 & =| 1Rige07:45 Bz (KABEREE)
08:10 278 150.0 [Z=| {Ri%e08:10 Bz (RAEESE)
09:55 278 150.0 FA| 1BRi&@09:55 B &) (KFAFEREEE)
11:35 278 150. 0 PR 1Ri&@11:35 Bz (RAERSE)
13:05 278 150.0 FH| {Ri%@13:05 B (RAEESE)
14:50 278 150.0 FA| 1Bi&@14:50 B3 (KRAHEREE)
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